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R Refio: @R
405,1 x 1072 = 3% 1009 =
1077 = 100D =
5% 10% = 1% 100D =
1009 = 1002 =
2x10° = 1004 =
8> 1070 = 3x10=
5x10= 1009 =
454,8+10° = 2% 10=
5x10° = 100D =
631,2+ 107 = 877.5+ 1003 =

www.snowmath.com


https://www.snowmath.com

SN R
P ILED

10 . & BUNED UdiDb

aH_
405,1x 1072 = 4.051
107 = 0.001
5% 10% = 500

10°% = 0.0001

2x10°=2
8§x 10V =0.8
5% 10 =50

454, 8+ 10° = 4.548
5x 107 = 500

631,2+ 107 = 631200

feiep:

3 x 10% = 0.0003
1077 = 0.1
1x10°Y =0.1
1072 = 0.01

107 = 0.0001
—3x 10 =-30
107 = 0.0001
—2x10=-20
1077 =0.1

877.5+ 10> = 877500
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